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~Answer All Questions.

(1. Find

(a) D(e¥ + 5sin 3x). () (D + 3)cos 2x).

02. (a) If A and B are any two event such that P(4) :l, P(B) =;, P =L is the usual
3 9 Bl 2

notation find
(i) P(ANB) (i1) P(4 w B).

(b) A bag contains five white and six black balls. The balls are removed at random one at a
time without replacement. Find the probability that

(i) the first two balls removed one white.

(i) the second ball removed is white.

03. Random blood glucose levels from a group of first year fourty medical students
(mmol/litere) are in given table

Interval Frequency
20-24 1
2.5-29 1
3.0-34 6
3.5-3.9 10
40-4.4 11
45-49 3
50~-54 - - 2
55-59 1

(a) Sketch the histogram of this frequency distribution,

(b) Find the mean of the above data.
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(01, zoosis.
(a) D(e + 5sin 3x). (b) (D + 3)(cos 2x). (c) -}Du{x+cosx}.

1 2 1 -
02. (@) P(4)=7, P(B)=7 ww P(%):—i o 60f § 4 =0 B og 88 ogns. wben
gommmad gmbd

() PANB) (i) P(4 U B) gacsio.

(b) @dem g edie owsl wo wg ediE 6 ¢1ﬁ. gmdnaﬁimmcbééf 08mb ow@ ecn
8cdecs! Odnd On 8 eRic oy Ged. 08 ol ¢ eRiE ‘

(i) e aeewd 8a®

(i} o¢bm edics gee® Bed CwiBmbon eeansim.

03. coben Bemeanm 8 40 ecemmed g doemid goiehon swm scpsl Dgedn
e,

egadmdes e3oB)BamDcy
20-24 1
25-29 1
3.0-34 6
35-39 10
40-44 11
45-49 8
50-54 2
5.5-59 1

(a) € g8 wedrom DnedBic wews i@ ebidlo g8uim.

(b) 08 coimbE DnEmBG GeswsIm.
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01. (eiTe(hHalsTeLDEnDSH &HiTeIb.

(a) D(e* + 5sin 3x). (b) (D + 3)(cos 2x).

02. (a) 4, B stenugn wWrsmlgd Sm Hapsss P(A)z%, P(B):%, P(%)::%
sTamaD eupdEoTar GPUIGSN Sl 6, TsiaiheuseLDMDS &S,
(@) P(AnB) (i) P(4U B).
) p® oulael mbs GelsTaer BDOTET, $hnl SO BPOTET UbHGISEHD
o sitenaun. e emaulT LibSiesT sTIPOTHOTS 6THIBSULG ST,
ITaHBID HHBDEEA|HANETE &I NI

() e@&sUUC L (pHed Bremih Ubsisells Q@ CalsTmaTuTd E)iHH5He0

(ii) sTEBHBUUL L. G Talgl Ubgh QelsTensTins BHHHe0

03. IpHEOTD &bl @HGHGIeN K. BIDUG  DTEmaUT  GETemil  G(palin
sTpIoTppIar @S  GEHBGETeTIT LD &6 DL eusmemifisd

SHITLILIL_(BisITa 601

aGLILTLTmL (Ble meoT
20-2.4 ) 1
25-29 1
3.0-34 6
35-3.9 10
4.0-4.4 11
4.5-4.9 8
50-5.4 .2

. 5.5-59 1

(2) @D WBle T LUFIDLRISETET SUEVW(HEIMTLISONS U] H.

(b) GopLipd ST EeTsr Emlemusb HT6NIS.



